EIREA T A ) 2025 “ S 10T (REI S TR CATTIF IS R

s FEEER  FARSEMW])EIESE(MVA) ERFET
1 10kViFATEL 3.45 4.85 R IRE RIG R JWE R/ #2ER
2 10kViREL 1.73 4.85 B WRE R B SRE Rk /#2E 3
3 10kViFE=LEL 0.63 5.54 B IRE R IG R JWE R/ #2E
4 10kViFHE 4.83 4.85 B SRR R AR SRR Rk /#1E T
5 10kViFIALE 4.98 4.85 B IRE R IG R WE R/ #1ER
6 10kVIREL 5.14 4.85 B IRE RS SRE b /#1E 3
7 | 1OkVIEFILE: 5.33 4.85 BRI IRE R IGEE WE R/ #1ER
8 | 10kviEFRREL 5.05 4.85 B SRR R AR SRR Rk /#2E %
9 10kVR|EE4: 4.69 4.16 SR RES SR KB /41E3F
10 | 10kVRUIIZ 4.74 3.74 BRI RUBIL A B /#2F %
11 | 10kVRIEZ 4.43 416 270 RIS SR RUBLE /4235
12 | 10kVRUIZE 4.16 4.16 B0 RIS KB ih/#2F 35
13 | 10kVRn—E 4.85 416 27 RIS SR RUBL /413
14 | 10kVRIEItE 5.91 5.54 21 B ERE RUE G /#2F 35
15 | 10kVRERS 5.48 5.54 SR RES SR KB /41E3
16 | 10kVRLI £ 4.43 4.16 B RUBIR SR KB ih/#2F 35
17 | 10kvRET—% 438 416 27 RIS SR RUBL /413
18 | 10kVRIX—m 2.77 2.77 SR REIS SR REM /413
19 | 10kVRZE—% 2.75 416 270 RIS SR RUBLE /4235
20 | 10kVRZ=E—£; 4.2 4.16 201 B ERAE RUEih/#1 £ 3F
21 | 10kvRES 3.93 416 SR REIS SR KB /41E3F
22 | 10kvRgERE: 5.02 4.85 SR RUBIE R B /4135
23 | 10kVRIE=5 0.7 416 SR REIS SR RUBIG/42E3
24 | 10kVRFE—% 4.26 416 R RUBIE R B /4135
25 | lokVEERsL 0 4.85 B SRITIL R SR /#1ER
26 | 10kVESC—% 0 6.24 BRI SRITIR T SR /#1EE
27 | 10kVEIL=% 421 4.16 B0 S RITTINER SR/ #2ED
28 | 10kVEiL—%& 0 4.85 B SRITILET SR /#1E%R
29 10kVEPHE 7.07 7.07 B0 S RITTINER SR/ #2ED
30 | 1okvEiEs: 0 6.93 SR SRITIRTE SR /413
31 10kVEI8L 6.27 6.24 B0 S RITINER SR/ #2ED
32 | 1okvEmis 43 6.24 SR SRITHR T SR /425
33 | 10kvER& 5.62 5.54 R BIEISERT B /41E3
34 | 1okvEiRg 2.47 416 BRI BRI B /423
35 | 10kvEpng 4.2 416 SR BRI Bl /42




36 10kVE#ELE 0.73 4.16 Bt BRI B S /#2E T

37 | 10kVESERE 0.99 5.54 B SIS B SIEL/# 1R

38 | 10kVEEFL 0.17 5.54 Bi%i SIS SlEnk/#2E T

39 | 10kwEEZ% 4.15 4.16 E DU UM DL

40 10kVE&RE 421 4.16 Bt BRI Sl /#1ET

41 | 10kVEEE 3.71 5.54 B SIS B SIEL/#2ER

42 10kVEisL 4.63 4.16 Bt BRI Sl /#1ET

43 | 10kVEiRE 4.84 4.16 B SIS B SIEL/#2ER

44 | 10kVEHSE: 4.09 416 SR BIEE R Blgi/41FF

45 10kVEIRL 4.85 4.85 Bt B REHIER T B REH N2 S TS
46 10kVEithek 5.54 4.85 B0 BRI BRI E RN 1 SETER
47 | 10kvEXE 5.68 5.54 B EREHIL SR RG2S T ERS
48 10kVEEL 3.05 4.85 B0 BRI BRI E RN 1 SETERS
49 | 10kvEFL 5.95 5.54 B EREH ISR E RE UL 1 ST ERR
50 10kvEiaLk 5.9 6.24 B0 BRI BRI E RN 1 SETERS
51 | 10kvEgizk 5.1 45 BT B EEH IR BRI 2 B T RS
52 | lokvEFE”L 5.13 4.85 B0 ERGINEE BRI 2 S T ERR
53 | 10kvEFE—£ 3.84 4.85 B EREH ISR E R 1 ST ERS
54 10kVEEL 5.53 4.5 B0 ERHINENE BRI 2 S T ERR
55 | 1lokvEss 4.73 5.54 B EREH IR E REH UL 1 ST ERS
56 10kVREL 6.38 6.24 B0 I BRI T 35 £ RS
57 | 10kvRE# 0 4.16 S RTINS RITIb/#2F 2

58 | 10kVRiEZ 0 5.54 B0 RIPILEITE RITuk /#2F T

59 10kVRIBE 0 4.16 B0 RITIh B RITh/#1E3

60 | 1okvRE—& 0 4.85 B0 RITIL IR0 RITuk /#2F T

61 | 10kVRE—&% 0 5.54 SR RIS R /41 TS

62 10kVRHnEL 2.7 4.16 B0 I BRI R 35 %R§
63 | 10kVR®!# 5.54 5.34 B RITIL BRI uE 35S F RS
64 | 10kVREL: 0 5.54 BT RIFUAEIAL RITul/#1+38

65 10kVR e 3.85 6.24 BT RIS 21T 35 RS
66 | 1OkVZRLLLZL 0 5.54 B0 IR0 Ik /#1E T

67 | 10kVRIRZRE 0 5.54 BRTE IR BRI RITuG /4 13

68 | 10kVRIHFEL 0 5.54 Bt RITIL B IRk #2E3

69 | 10kViERZ: 0 416 BT DA T D St /# 1 3
70 10kViitek 0 4.16 B0 IR R/ # 1 E T
71 10kViii=tk 0 2.77 B AE DRI AR ARG # 1T
72 10kVEIAZ 4.29 5.54 B ER LR Evah/ # 3T




73 10kVEESL& 7.91 6.24 B RIS  FERiL/#2E 3
74 10kVEEIEZ 6.24 6.24 ERAE RIS [EbkG/ # 3T
75 | 10kVEEHAIE] 497 416 S0 EME R ki /42
76 | 10kVEEHIE 44 4.16 BR7 mErt i B ks #1E3
77 | 10kVEHE—£ 4.85 4.85 S0 EME R Rk /413
78 | 10kvEERZ: 4.24 416 YA A e N
79 10kVERE 7.03 5.54 B RIS FERiL/#2E 3
80 | 1lOkVEZ%: 4.82 4.85 B570 Ertih B ks # 13
81 10kVE#HEL 5.03 6.24 B E LR v/ # 3T
82 | 10kVEEREE: 5.07 5.54 BR7 mEr b B ks #2E3F
83 10kVEIRLZ 6.41 6.24 B ER LR Ebkh/ # 3T
84 | 10kVEIZEL: 43 416 B AE EMIEBIRAE FEbhut/ 42 E 38
85 10kVEFE 5.29 4.85 B0 RIS FERiL/#2E 3
86 | 1OkVEEKZ: 417 4.16 B 1 ERIL B R iG/# 1 E 35
87 | 10kVEIE 416 416 S7% EME R k423
88 | 10kVEE4IE 5.08 4.16 B0 1 EVRIL B R iG/# 1 £ 35
89 10kV LT 6.5 5.54 B0 RIS FEvRiL/#1E3
90 | 10kVEIFE—%: 5.19 5.54 LR ML A bk /423
91 | 10kVEIFE—% 4.82 4.16 B RIS  FEvRiL/#1E3
92 | 10kVEIEL: 6.75 6.24 B7 mEr i B Ebkih/#2E3
93 | 10kvEgENZ: 441 416 2070 B LLIE R Y RE LS /41
94 10kVEgRIZ 5.82 5.54 B B LR RS F Lk /#2E  BRTE
95 | 10kVEgithe: 5.37 416 270 B LLISE R Y FE L /41
96 | 10kvEgke: 457 457 2R mE LIRS AL /41 3
97 10kViSEE 4.2 4.16 BRI SRISER. SR /#1EEE
98 10kVEWHE 0.9 4.16 E DU SURSY D %
99 | 10kViPREs: 0 3.05 B S BRI SRR /# 1 2 E R
100 | 10kVipRELE 2.22 3.05 e DUR D DU, e T L IEs
101 | 10kViFitisk 0.35 3.05 Si%70 UL SR Fithi /413
102 | 10kVIERZ: 0 3.05 BT o Bk e Feithih/#2F 35
103 | 10kVEHZ% 0.27 5.54 B T A ik /# 1 3
104 | 10kVFEBEZ 4.74 5.54 SRS TR S /42 35
105 | 10kvEFE& 4.16 4.16 B Aa FIRBRE BEFib/#1EDR
106 | 10kVHEEHRE 6.94 6.93 E DUASI=RRt SURS i Thid =
107 | 1okvEss 6.39 6.24 B Aa FIRBRE BEFih/#1EDR
108 | 10kVEHL 2.65 416 BT O TR B /423
109 | 1okvES% 0.7 4.16 B Aa FILBRE AEFuh/#2ED




110 | 10kvESD% 6.24 6.24 2. Aa FIBRE AaFuh/#2E%
111 | 10kVE#IR& 6.24 6.24 B OEFIbEN. OEFib/#2E%
112 | 10kVEi@i&E 6.3 6.24 B Aa FIBRE AaTFuh/#2ED
113 | 10kVEKERE 6.24 6.24 B OEFIhEs OEFib/#1E%
114 | 10kVEiEFL 6.24 6.24 B Oa B O Fik/#41E%
115 | 10kVE.E& 6.24 6.24 B OEFIbEs OEFib/#1E%
116 | 10kVEKFL 6.24 6.24 %t Oa b O Fib/#1E%
117 | 10kVE#is 6.25 6.24 B OEFIbEs OEFib/#2E%
118 | 10kVE#E 3.59 6.24 B Aa FIBRE AaFuh/#2ED
119 | 10kVEURE: 0 5.54 BT SUTIR BRI UG /# 1 £ 35
120 | 10kvEsEL: 2.92 6.24 270 B LLISE R Y RE LI /42T
121 | 10kV@Egsésk 4.14 4.16 BSAE R LI B TE B Lk /423
122 | 10kVEgiiss 3.76 4.85 270 B LLIE R FE L /41
123 | 10kVEgEiaLk 6.36 6.24 B0 AL B ma Lk /41 E R
124 | 10kVEsERE 438 4.16 B0 m LB E F Lk /# 1T
125 | 10kVEa=—% 5.37 5.54 BRe1E AL B Fa Lk /42 F 3R
126 | 10kVEsRElZ% 0.66 6.24 2278 gL BT B LUk /# 1 3
127 | 10kVEgHL 5.36 5.54 SR mE LSRR B LG/ #2 3
128 | 10kVEgEEZ: 4.99 5.54 2977 B LLISE R FE LS /41
129 | 10kV@Egithék 5.19 4.16 R0 L B ma Lk /#1E TR
130 | 10kVEgEZ 5.63 5.54 2078 g LA B LUk /# 1 3
131 | 10kVEsiAsk 5.57 5.54 BT L B ma Lk /#2F %R
132 | 10kVEgksk 4.84 4,57 2078 B LU BT B LUk /# 1 3
133 | 10kV@EGiEs 2.92 4.16 B0 1 FE LR B R L s /# 2 35
134 | 10kVEgZsk 3.24 4.16 278 g LSBT B LUk /#2 3
135 | 10kVEHE 0 4.16 o)1 &) || Sl /A4 3 RS
136 | 10kvES#HIL 0 416 71| L) || S L/ 343 s
137 | 10kVIe k& 0 3.88 P)I.E WL S/ 3# 3 ERs
138 | 1okvEZEL& 0 5.54 P91 BRI Sl /442 RS
139 | 10kVHHERELE 0 2.77 Bife KRGS RHub /1538
140 | 10kVHEL 0 2.77 E DN SN
141 | 10kVER{EL: 2.77 2.77 1T, KSR S A F /23S
142 | 10kVARZ 1.95 2.77 E DU WNEE S NP
143 | 10kViR[EIIbL: 5.16 5.54 B7. EARPTIREAE . RIS /#2E 3
144 [ 10kViR#NdtLe 5.69 5.54 B, EIRGTIAEE . AR/ #2E T
145 | 10kViREE: 5.67 5.54 BRAE. EARRI AT BRI /42T
146 | 10kVAR=1bE 5.54 5.54 Bt ERATIE AR LRI/ #2E




147 | 10kviREL 5.66 5.54 7. ERGTIAEE . bR/ #2E T
148 | 10kViRZFme%k 5.8 5.54 B 1. LARSTIL SR AE. EARIF A /#1ET
149 | 10kviREL 571 5.54 7. ERGTIA RS bR/ #1E
150 | 10kViREs: 7.35 6.24 B7. EARGTIS . EARIT L /#2E 3
151 | 10kVARIE=%: 4.8 5.54 7. ERGTIA S bR/ #1ED
152 | 10kViRZ R 5.62 5.54 7. ARG . AR /#1E3
153 | 10kviRZEdtE: 5.83 5.54 B8, EIRETIAEE . E AR/ #2E T
154 | 10kV4RBAZ 6.52 5.54 B7. ARSI . AR /#1E3
155 | 10kViREi& 5.88 5.54 7. ERETIAERE . EARIRuL/#1E
156 | 10kViREIREZ 6.29 5.54 Bi%7E. AR TE . EAR /413
157 | 10kviRixZk 5.92 5.54 B8, ERETIAEE . PRI/ #1E
158 | 10kViR#EGL: 5.75 5.54 7. ARG AR /#1E3
159 | 10kviRiEs 5.72 5.54 B8, ERGTIAEE . AR/ # 1 £
160 | 10kViRIE— % 5.59 5.54 BR7. EARGTIS . EARI L /#2FE 3
161 | 10kVARiE—E: 5.79 5.54 7. ERETIAERE . bR/ #1ET
162 | 10kViRTT—%£ 4.72 4,57 BR7. EARITIR . EARIT L /#2F 3
163 | 10kv3¥¢rhsk 4.23 5.54 B SRR AR SR /# 1 3
164 | 10kv3pEsk 6.36 5.54 B XL X BRI /# 1T
165 | 10kV FIREL 4.59 457 B SRR AR SR /#1ET
166 | 10kvi¢msk 4.59 4.57 BT KPR UL AR PR UG /#2F T
167 | 10kV3¥iRZ 5.37 5.54 B SRR AR SR /# 1 E2
168 | 10kV3¥(—pEgsk 6.34 5.54 BT KPR AR PRI /# 1T
169 | 10kV34ssE: 3.68 3.67 B SRR AR SR /# 1 E3
170 | 10kV¢Es 4.85 416 B IR IR SR # 1R
171 | 10kV3¥ sk 4.83 457 SR NIRRT N 42T
172 | 10kv3m—% 5.12 4.85 B KPR IR SR #2E TR
173 | 10kV3¥r—# 6.67 6.24 R L X IEUR BRI X BEuh/#2F 3
174 | 10kV3¥igs 4.69 4.16 B IR IR SR #2 TR
175 | 10kv3¥—4ts 6.28 5.54 BT SRR R 42T
176 | 10kV3ig—4% 5.47 4.85 B IR IR SR # 1R
177 | 10kVM—E% 6.5 6.24 E DR S L
178 | 10kViEigs: 5.55 5.54 B0 TR Ih B 1R b/ #2E R
179 | 10kv&EEZ 4.24 4.16 BRI BRI R /41T
180 | 10kVEH%Z: 273 416 B1E BRI RIAY SR /423
181 | 10kvER%Z 2.64 4.16 BT BRI BB /# 1 E3E
182 | 10kViikiLk 3.67 3.67 S B RIN SR BRI/ #2F R
183 | 10kvE&ARM& 5.55 5.54 B BB B BB b /#1 £




184 | 10kvEiEL 4.66 4.85 BT BRI BB /# 1

185 | 10kViafes 0 277 B MRIL R BEIG/# 1T

186 | 10kViatEs 1.09 2.77 B RN R/ #1ET

187 | 10kViaErsk 0.85 277 B MRIL R BRI /#2E T

188 | 10kVeFFs: 0 5.54 SR SRR ST /418

189 | 10kveksk 0 416 B SRR STTuh /423

190 | 10kveEs 0 4.16 B0 S TR 2Tk /#2F%

191 | 10kveriEs 0 416 SR SRR ST /42E3

192 | 10kVefask 0 4.16 Bt & T Bt T /#1E%

193 | 10kveRsk 0 416 LR SITIREIAE $TTuh /4133

194 | 10kVEEEE 4.97 4.85 B8 SRR B e it /# 1 £
195 | 10kvEsgsk 4.83 4.85 BRE. BRI 1L SRt /#1 £ 35
196 | 10kVEEL 4.85 4.85 B8 SRR B g it /#2E T
197 | 10kvEissk 4.86 4.85 B 1E. 5o R SR BB G /# 1T
198 | 1okvEsiEsk 5.61 5.54 B8 E AR B g it /#2E T
199 [ 10kvEzllizk 4.86 4.85 R0 E AR BRIt/ #2F%
200 | 10kVEik 4.86 4.85 B8 SRR B g it /# 1 £
201 | 10kVESTE: 4.85 4.85 BRI SRS BRI /#2E%
202 | 10kvasgsk 4.86 4.85 B8 SR B e it /# 1 E 2
203 | 10kvEzEL 4.44 4.85 B SN B 5 BN /#2FE3F
204 | 10kVE/EL 4.52 4.5 B8 S AR B e it /# 1 E %
205 | 10kVEsHEs 5.55 5.54 B 5N BT 5/ gL /#2E 3R
206 | 10kVES=—% 2.12 5.54 270 B LLISE R Y FE L /41

207 | 10kvkH#: 6.12 5.54 BREE. AT FREAE. AR /#1 £ 2
208 | 10kvihes: 5.93 5.54 SR AR KK /#2538
209 | 10kVAELZ 5.55 5.27 B8 KR A KF b /#1E3
210 | 10kVAHEHLZ; 5.41 5.27 B0 K H A JOK S/ #2E %
211 | 10kVAI % 6.26 5.54 B0 AKX AKF b /# 13
212 | 10kVAKAZ 3.23 5.27 B0 KA JOK S/ #2E %
213 | 10kVARE: 2.08 5.54 B8 AR AKH b /#1E3
214 | 10kVAT% 5.45 5.54 B KRR OKFFuh/#1E%
215 | 10kVAI =% 5.77 5.54 B8 AOKHHIR A AKF b /#2F 3
216 | 10kVAS—£; 5.86 5.54 B0 K H AR RS/ #1E%
217 | 10kVARIE: 491 5.54 B8 AR AKF b /#2F 3
218 | 10KkVHBIRZ 0 4.16 B IR R BRI ARG /#2E R
219 | 10kVAg#E: 0 416 B E AR BT AR BT /#2525
220 | 10kVHEiEZ: 543 5.54 E DAL A L




221 | 10kViRD# 0 4.16 B0 AR EIIA R IS B /#2E
222 | 10kVIBZE: 0 4.16 B M IR BRI AR BTG /#2 T
223 | 10kVETI4 4.65 4.85 B I Aia R A/ # 1 £
224 | 10kVEFHZ 5.56 5.54 B A A A SR A /# 13
225 | 10kVARRE 4.85 4.85 B8 I Aa T A h/#2E T
226 | 10kVADE 5.12 4.85 BA WA A A i /# 23
227 | 10kVALE# 5.54 5.54 B8 A a R A h/#2E T
228 | 10kVE#—5 5.58 5.54 B A A A SR S A /#2E 3
229 | lokvaE£mEs: 5.58 5.54 B I Aa R A/ #2E %
230 | 10kvESItLE 3.99 4.85 EA WA A A iih /# 13
231 | 10kVAE—% 5.9 5.54 B I Aia R A/ # 1 £
232 | 10kVESB%Z% 5.81 5.54 B A A SR A /#2E 3
233 | 10kVAS % 5.77 5.54 B I Aa R S A/ #2E %
234 | 10kVRREZ: 0 5.15 S RTINS RITIh/#1EL
235 | 10kvangss 0 5.54 BRAE SUTUE B AL STk /#2F38
236 | 10kVEXALL 0 5.54 R0 SO R SO /#2E 3
237 | 10kvirgRs: 0 5.54 AL SUTUA B AL STk /#1358
238 | 10kVEUREL 0 5.54 R0 UL R SO /# 1T
239 | 10kvaxilig: 0 5.54 BORAE SUTUE B AL STt /# 1 3E
240 | 10kViXdEE: 0 5.54 BT SUTIR B UG /#2F 35
241 | 10kvisg: 0 5.54 SR SUTIE SR ST /42 3
242 | 10kViziRZ 0 4.16 B PRI IL AR ARG /# 1T
243 | 10kVigeik 0 4.16 B0 IR ITIR R s T /# 1 £
244 | 10kVHig 0 5.54 B AE ISR AR ARG /#2 T
245 | 10kVizfask 0 4.16 B0 IR ITIA R AR T/ #2E T
246 | 10kVizimgs 0 4.16 B AL ISR AR ARG /# 1T
247 | 10kVigiik 0 4.16 B0 IR ITIA R AR Tk /#2E T
248 | 6kVR —FAL: 1.05 2.8 P91 ERTPY) | SRIT/1# 28 s, ) || SR P || R0/ 2# 2 [F 8
249 | 10kViEHsE 0 4.16 21 BRI BRIk /#2E3
250 | 10kViER& 3.35 416 B 1 AR SR AR s /# 13
251 | 10kViEfask 0 4.16 B BRI BRL/#2E3
252 | ekViE®L: 2.34 416 B R ih B e LLiR G /#2FE
253 ok VIt 0 4.16 B0 AR LTI uL /# 1 E3
254 | 10kViSHkE: 5.67 5.54 B SRR BRI /#2ER
255 | 10kViEREL 3.99 4.16 B EEITTIN R BT/ #2ED
256 | 10kViEHEk 4.19 4.16 DU taet D UB - va g Tkl =
257 | 10kViE=EF% 4.3 4.85 B EEITIN R BRI/ #2ED




258 | 10kViB=RE: 5.12 4.85 B EEITINERE BT/ #1EDR

259 | 10kVHRTZE 0 4.16 B 1 A0 Wik AR B 01k /#2 %

260 | 10kVHERHEZ 0 4.16 B B0 Dt A0k /#2E %

261 | 10kVHm#EE: 0 4.85 B1% B Digu g B ik /#2E %

262 | 1OKVERZ: 4.59 5.54 B%A0 B0 DUk A B i uk /#1738

263 | 10kVIRfRLL 0 5.54 B REITUL AR ARER s /#1E T

264 | 10kviREBg: 0.41 443 BRI REIFIE 2 S TS

265 | 10kViRigL: 0 443 SR AE REITPUEIRAE RSP/ #1E38

266 | 10KVIRiAZ 0 4.43 B REITIL AR ARBR T /# 1 E T

267 | 10kVoRIFZ 3.48 4.43 BRI ARRITE2 S T ESS

268 | 10kVEILEL 0 5.54 E SRR AR

269 | ekt 142 416 SRR AL = MBS =k /#2F3T

270 | 10kvEESZE 493 5.54 SR SRR RS /41T

271 | 10kVESE: 0 5.54 B 1 B B [BEh /42T

272 | 10kVZE# 0 5.13 BT RIS Lk /# 1 E38

273 | 10kVERRE 0 4.16 BT TN BRI et /#2F 35

274 | 10kVERE 0 5.54 Bt Rk B Rh /#1E 28

275 | 10kVZEL: 0 5.13 B R B Lt /# 2 F 35

276 | 10kVZekik 0 4.16 B0 RIS Lk /#1E38

277 | 10kVZRIEL: 0 4.16 B T B Lt /# 2 F 35

278 | 1OkVi&HE: 0 1.39 BT ARG AR /# 1 E T

279 | 10kVigEELL 0 1.39 E DUR i U 0 Y =%

280 | 10kvigsiEE: 0 1.39 SR 0 AT RIS TE AR BRI /#1235

281 | 10kVi&iEL: 0 139 BT MR A 18 AR /# 1 £ 35

282 | 10kVigEs 0 2.77 e SRS AR HE RO /# 1 E3

283 | 10kvitwigs 0 2.08 Si%7e FEANE R HAuE /41335

284 | 10kVikZ 0 277 B SRS AR HE RO /# 1 3

285 | 10kVEFEEL 0 2.77 Bt TR B T ANuG/# 1 £ 3F

286 | 10kVimgzék 417 4.16 B0 H IR S RiBuh/#1EDR

287 | 10kVimshik 2.98 3.05 E DUBSE R UWSE I Vi =%

288 | 10kVFOERZ: 0 3.05 Bt ANE L B FIE b/ #1E%

289 | 10kVFNisL 0 3.05 BT FIZ IR AR A B b/ # 1 £ 3

290 | 10kViIEHZ 0 3.05 Bt ANE b Bt FE b /#1E2E

291 | 10kViaégEsk 0 3.05 ERAE A b B ST (i /# 1 35, BARe 18 ST i B e ST (I /#2 E%8
292 | 1O0kViEiEssk 0 1.59 B A OISR A ik /# 1 38, B0 0 U B 1E TR Lk /#2E38
293 | 10kVimgEns: 0 139 SRAE RIS EREAE STt /# 1 35, B8 SR VU A ST /#2235
294 | 10kVimEhsk 0 1.39 B R LSRR T ik /# 2 38, e 0 U BRI TR Lk /# 1 38




295 | 10kVAIE—% 4.24 4.16 SRTE LTASSE R AL LTIRuE /#2F T
296 | 10kVAIEE—% 0 4.16 Biie IARINERTE LK/ #1E T
297 | 1okvass 0.28 416 ST LTASSE R AL LTIRuE /42F T
298 | 1okveriigk 2.04 416 YR AN Lk
299 | 10kVLIEEZ: 0 4.16 DR RN L
300 | 10kviLEs: 0 416 BIRTE LTASUERIAE LTSk /4 1135
301 | 1O0kViIHnsk 0 4.16 E DR AN L
302 | 10kVAIES 0 4.16 BRA TR IL AR AR G/# 1T
303 | 10kVALILZRE: 0 4.16 E RN SR
304 | 10kVETILFa4: 0 3.67 BA AR IL AR ARG/ #2E TR
305 | 10kVidE4 3.05 3.05 B0 S0 AR ADAE TRk /#2E T
306 | 10kVigH&e: 0.72 4.85 B0 IS DR DS A /# 1T
307 | 1okvidias 3.58 5.54 B0 SR 1R ADAE At /# 1 E T
308 | 10kViBer4: 1.75 3.05 B0 IS DR DS Ak /#2F T
309 | 10kVESERE: 0 4.16 BT SRR AL AR /# 1 3
310 | 10kVEgHEEL 1.97 3.05 R BRI R s /# 1
311 | 10kVEsEdLEE 1.05 3.05 ST SRS Y SR /42
312 | 10kVEgZSEss: 5.75 5.82 BRAE PEE B Sk m k42 2
313 | 10kvERFE 0 1.87 SR SR /41T
314 | 10kVEEZ 0 1.94 B S R Bk /42T
315 | 1okvEgs: 0 1.94 SR B /42
316 | 1O0kVESRLL 0 1.94 R0 SR Ak /# 1
317 | 10kviEss: 0 1.94 BRI B /41
318 | 1okvEias 0 2.49 Bi7E SRR REL/41E3
319 | 10kvEsss: 0 1.94 SR RRIGERE REE/42FE
320 | 1O0kVEEEL: 0 3.67 B KRS RREG/#1ET
321 | 10kvEke: 0 2,91 SR REIGERE REE/41TE
322 | 10kVEifashek 0 3.05 Sl RENEETE REL/#2EE
323 | 10kVEifagEs: 0 416 SR REIGERE RE /42T
324 | ekViEL: 1.83 3.05 BT = MR B =G /42 T
325 6kVitkE 0 5.54 B0 = MRS =k /# 1 3
326 | 6kVirE 0 2.49 Bi%70. = MBI = /413
327 | 10kVErkZ 6.41 6.37 E SUR IV U AN e
328 | 1okviEng: 2.7 3.33 BT R BAAE, SVt /423
329 | 1Okvimigsk 5.54 5.54 B ST AR Lk /#2E3
330 | 1OkviREs: 4.87 4.85 E DUEIN S U T =%
331 | 1okvEes: 0.28 3.67 SRTE L SR Sk /4 1




332 | 10kvEiAL: 0.56 416 SRTE FE AL Sk /41
333 | 10kvimiss 0.85 416 BRA Fikibh B Siiih/# 1E3E
334 | 10kvEike: 416 416 ST FE SR Sk /42
335 | 10kVisk 3.82 4.16 BRA Fikibh B Sikih/#2E3
336 | 10kVETt& 4.23 4.16 B0 ATBa S Biskit /# 1 3
337 | 10kVERiRZ: 4.42 4.16 BA Fikih B Siih/#2E3
338 | 10kvEB%& 411 4.16 B0 ABa S Biskih /# 1 3
339 | 10kvERAZ 4.25 4.16 BA Fikibh B Hikis/#2E3
340 | 10kVET% 4.47 4.16 B0 AT B sk /# 2 3
341 | 10kVXKELL 0 277 BT IR AR KK UG /# 1 £ 3
342 | 10kVikEEs 0 2.77 BT KU XKL /# 1 E3
343 | 10kViKk3EEL 0 277 BT IR AR KK UG /# 1 E 35
344 | 10kVikzk&k 0 3.05 BT KRB XKL /# 1 3
345 | 10kViKEnék 0 249 BRAE KRR KK /# 1T
346 | 10kVidzkék 5.89 5.96 B0 S0 1R ADAE TRk /#2E T
347 | 10kvaIss 4.29 4.16 BA LTSRS AR LTS UG/#2FE TR
348 | 10kVEsskE: 3.66 4.16 ST S L AL SR /41
349 | 1okvigEL 3.26 3.26 SR AR R /41EE
350 | 10kVFEs: 531 5.47 SR IR AR /41EE
351 | 10kvighRs: 2.38 3.26 SR RO R /42E%
352 | 10kvigskes 4.23 423 BRI IR AR /42
353 | 10KVEA#HZ 4.14 5.22 B AR ARG/ #2E %
354 | 10kVEEZE 5.2 5.22 BRI IR AR /41EE
355 | 1OKVig % 3.67 3.66 BR7 ek b B bt/ # 13
356 | 10kVigiss 5.81 5.82 B0 A Cu AR 1 Agd bk /#2 3
357 | 1OkVigfEs: 5.24 5.22 BRA ek b B b/ # 13
358 | 1OkVigEAZRE: 6.35 6.16 B0 A Cu AR 1 Agd bk /#2 3
359 | 10kVimEAFEL: 4.04 4.16 B7 ek b B g bt/ # 13
360 | 10kVig#hZ 5.58 5.54 B0 A Cu AR 1 Agd bk /#2 3
361 | 10kViAZ: 3.66 3.66 SRR S LU B 1 Apk b /# 1 35
362 | 10kVigkE 5.89 5.86 R0 A Cu AR 1 Apd bk /#2 3
363 | 10kVigkigss: 4.39 3.66 SRR S0 LU B 1 Ak b/ # 1 35
364 | 10kViEL: 2.79 2.77 S0 S CRE AR S L /42
365 | 10KVAAZ 5.83 5.47 BAE RSP FUb e AP Fib/#2F%
366 | 1OKVAHKFE 571 5.54 B0 KIFFIb e Kb/ #1E%
367 | 10kVAEZ 6.44 5.86 BAE KIPFUb e AP Fib/#2F%
368 | 1O0kVATBZ 4.57 4.15 B0 KT FIh e Kl /#1E%




369 | 10kVAHnEk 5.21 442 B0 KIFFIh s Kl /#2E%
370 | 10kVKHBEL 3.06 3.05 BRI K FIRER K Fub /#1350
371 | 10kVKimsk 7.52 7.41 B8 KIFFIa s Kb/ #1E%
372 | 10kVHERZ 4.63 5.54 B7 LI E A HELL G/ # 13
373 | 1OkViEisk 3.84 3.95 B0 LSBT AL /# 1 3
374 | 10kVigbE: 4.44 4.85 B7 IR B HELL G/ # 13
375 | 1OkVis#misk 5.46 5.54 B0 LSBT AL /# 1 3
376 | 10kVERERZ: 4.44 442 SRSTE RRBE SRR 10 RRBlE A /# 1 T35 A0 RRB I EAASTE AR /#2535
377 | 1OkVERBEZL 3.67 4.06 A% RRB L BT AR DG /# 1 3, 10 AR SR 10 AR Blk /# 238
378 | 10kVEFiEL: 3.9 4.42 S0 AR SRR 10 RRBlE i /# 2 335 AL ARBI I AT TE AR /# 135
379 | 10kvEE# 147 4.16 S70 EL R0 B /#2EF
380 | 10kVEER: 2.92 416 i1 ELF A0 B /42F%
381 | 1OKVERAZ 8.86 7.38 B K BILER KR/ 1SEE
382 | 1OkVvisz 6.25 5.54 BRI KB ULERE KB /2SET
383 | 1OkVKE# 7.31 6.51 B K BILER KRB /25EE
384 | 10kVKERItE 7.36 6.51 BRI KB ULERE KB /2SET
385 | 1OkVKES 7.29 6.51 B K BIEER KB/ 1SEE
386 | 10KV 6.81 5.47 BRI KBILERE KB/ 1SETF
387 | 10kVKERm%: 7.05 6.51 B K BILER KR/ 1SEE
388 | 10kViEEZ 6.03 6.1 BRI AR A/ #1E R RS
389 | 10kVESEEZ: 3.45 4.15 Bi%70 Pt A0 F ik /#2E28
390 | 10kVEgtTsk 4.07 4.15 B0 1 FEt B F s /# 1 £ 35
391 | 10kVEgptZ: 3.99 4.06 Bi%70 Pt A1 F it /# 1 TR
392 | 10kvEsHL 2.58 415 Si%7% BIE R AY, RE /4235
393 | 10kVESHZ: 0.6 4.15 Bi%70 Pt B 1E m it /# 128
394 | 10kVTHoLk 4.72 4.42 S TN TR /#LER
395 | 10kVFiEL: 3.9 3.66 Bt T B Tk 41 E
396 | 10kVTiALE 8.38 8.31 B TN B T #2ER
397 | 1OkVEELZ 2.81 4.06 e DU SR e
398 | 10kviEiSs 3.74 4.06 E DUREN S DUR SV =
399 | 1okviES: 2.28 4.06 SR E SRR /413
400 | 10kViEiEsk 3.79 4.06 E DUREN S DUR V=
401 | 10kVEISZ 4.19 3.66 B0 BIBER B AR /#1ED
402 | 10kVaEIE% 4.43 741 BRI BIPER SR AR /#3ET
403 | 10kVHiEEL: 3.51 4.15 B0 BUBER B AR /#3ER
404 | 10kVRESZ 5.18 5.22 BT PR B IRt /# 1 35
405 | 10kVRERaZk 4.9 5.22 B0 BER L AR PR ik /# 1 38




406 | 10kVpiEEL 1.04 291 B0 BERI AT PR ik /# 1 3
407 | 10kVRFEL 4.02 4.16 B7% IOk B A IO s/ # 238
408 | 10kViiiek: 3.82 4.16 B AE RN B A A s/ # 1 £ 28
409 | 10kViles: 5.96 5.22 B57 [ O ah A SOk #2F 3
410 | 10kViFERZ: 8.32 8.31 SR A SRAE WO/ 41 355
411 | 10kvehE% 3.81 3.81 BI%7%. FRRUEBARAL, PRk /#4235
412 | 10kVrhiEsk: 3.92 3.66 B0 RIS PR /#1E3
413 | 10kvrpiEs: 2.6 3.66 BR78 R IL A ARG/ # 1T
414 | 10kViEEL 4.23 4.16 BT SRR SR /# 1 E
415 | 10kviesls: 4.76 5.22 B8 RIRIR B IR AL /#2E S




